
qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot
1     dlxnf ejg lgdf{)f 1 100000.00

2     dlxnf cfo cfh{g -un}+rfsf] tfg vl/b_ sfo{qmd 1 50000.00

3    n}+lus lx+;f ;DaGwL hgr]tgf d"ns sfo{qmd  1 50000.00

hDdf /sd 200000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot
1     dlxnf ;Lk ljsf; tyf cfo cfh{g sfo{qmd      2 50000.00

2     dlxnf ejg lgdf{)f dgsfdgf dlGb/ qmdfut    2 100000.00

hDdf /sd 150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot
1     UjfNbx dlxnf ejg lgdf{)f qmdfut of]hgf 3 100000.00

2     dlxnfx?sf] g]t[Tj ljsf; tflnd 3 50000.00

hDdf /sd 150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1     dlxnf ;+hfn ejg tNnf yk 4 100000.00

2     dlxnfx?sf] Ifdtf ljsf; tflnd 4 50000.00

hDdf /sd 150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot
1     a}b]lzs /f]huf/ dlxnf cfk|jf;g tflnd 5 50000.00

2     dlxnf :jf:Yo :jod\ ;]ljsfx?sf nflu tflnd tyf uf]i&L 5 75000.00

3    hgr]tgf d"ns tflnd lbbLalxgL ;d'x 5 25000.00

hDdf /sd 150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot
1     sf]^]k^f]n dlxnf ;fd'bflos ejg lgdf{)f -qmdfut of]hgf_ 6 24000.00

2    
j*f g+= 6 df /x]sf dlxnfx?sf] nfuL l;k ljsf; tflnd 

;+rfng
6 50000.00

3   
dlxnf :jf:Yo :jo+ ;]jLsfx?sf] nflu k|f]T;fxg eQf tyf 

tflnd sfo{qmd
6 76000.00

hDdf /sd 150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1     dlxnf :jf:Yo :jo+ ;]ljsf k|f]T;fxg eQf tyf tflnd sfo{qmd 7 92000.00

blIf)fsfnL gu/kflnsfsf] j*f:t/Lo of]hgfaf^ k|fKt eO{ cfPsf of]hgfx?sf]

ljj/)f tyf ljlgof]lht /sd

nlIft ju{ cGtu{t dlxnf tkm{sf] of]hgf tyf sfo{qmd

cg';"rL 2 s



2     dlxnfx?nfO{ n#' pBd ljsf; tyf tflnd ;+rfng 7 58000.00

hDdf /sd 150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1     n'rf]^f]n cfdf ;d'xsf] Ifdtf clej[l$ sfo{qmd   8 25000.00

2    
n}+lus ;dfgtf tyf dlxnf ;zlQms/)f s]Gb|åf/f :j/f]huf/ 

d'ns dG^]Zj/L tflnd k|bfg ug{sf] nflu  
8 45000.00

3    blIf)fsfnL dlxnf ;d'x ejg dd{t ;Def/ 8 50000.00

4     lx^Lufn ;/;kmfO{ 8 10000.00

5    
blIf)fsfnL :jf:Yo rf}sLsf dlxnf :jf:Yo :jod\ ;]ljsfx?nfO{ 

k|f]T;fxg sfo{qmd 
8 20000.00

hDdf /sd 150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1    
blIf)fsfnL :jf:Yo rf}sLsf dlxnf :jf:Yo :jod\ ;]ljsfx?nfO{ 

k|f]T;fxg sfo{qmd
9 30000.00

2     a]df};dL t/sf/L v]ltsf] nflu pGgt ljp ljhg ljt/)f  9 100000.00

3    dlxnfx?sf] nflu g]t[Tj ljsf; sfo{qmd 9 20000.00

hDdf /sd 150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1    
blIf)fsfnL dlxnf ;+hfnaf^ Psn tyf ljkGg dlxnfx?sf 

nflu cfod"ns tyf /f]huf/L d"ns tflnd   
10 100000.00

2    
blIf)fsfnL :jf:Yo rf}sLsf dlxnf :jf:Yo :jod\ ;]ljsf dfkm{t 

:j:Yo cfdf ;d'x ;+rfng 
10 25000.00

3    l*s' axfn dlxnf ;d'xdfkm{t pGgt ljp ljhg ljt/)f 10 25000.00

hDdf /sd 150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1     dlxnf :jf:Yo :jod\ ;]ljsf tflnd, uf]i&L / k|f]T;fxg eQf 11 75000.00

2    
dlxnfx?sf] nflu cfo cfh{g d"ns tyf ;Lk d"ns tflnd 

k|bfg 
11 75000.00

hDdf /sd 150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1     dlxnf :jf:Yo :jod\ ;]ljsf tflnd, uf]i&L / k|f]T;fxg eQf 12 75000.00

2    

blIf)fsfnL g=kf j*f g+= 12 sf gful/s ;r]tgf s]Gb|sf 

dlxnf ;b:ox?nfO{ :j/f]huf/ tyf cfo cfh{g d"ns sfo{qmd 

;+rfng  

12 75000.00

hDdf /sd 150000.00



qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot
1     vs{*f+*f dlxnf ;fd'bflos ejg lgdf{)f 13 150000.00

hDdf /sd 150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot

1
j*fsf dlxnfx?nfO{ cfod"ns tyf ;Lk d"ns tflnd tyf 

Ifdtf clea[l$ sfo{qmd   
14 150000.00

hDdf /sd 150000.00

qm=;+= of]hgfsf] ljj/0f j8f g+= ljlgof]lht /sd s}lkmot
1 dlxnf ;fd'bflos ejg lgdf{)f 15 150000.00

hDdf /sd 150000.00

blIf0fsfnL gu/kflnsfsf] nlIft tkm{sf] dlxnfsf] nfuL hDdf /sd 2300000.00


